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PUBLIC ADMINISTRATION

questions are compulsory.

Felix Nigro points out four basic

elements of similarity between the

public and private administration.

Which of the following is not among

those four ?

(A) Bureaucratic element

(B) Service and cost

(C) Concept of techniques of
scientific management

(D) Human relation approach

Assertion (A) : Theoretically,
Minnowbrook Conference Il
represents both Simonesque
and Waldonian perspectives.

Reason (R) : Some were drawn to
Economics, Organization
theory and Management and
others have appreciated
frameworks and methods from
Political Science, Sociology,
Philosophy and History.

Codes :

(A) Both (A) and (R) are correct
and (R) is correct explanation
of (A).

(B) Both (A) and (R) are correct,
but (R) is not correct
explanation of (A).

(C) (A) istrue, but (R) is false.

(D) (A) is false, but (R) is true.

Chester  Barnard’s  ‘Zone  of

Indifference’ represents which of the

following ?

(A) Those which will clearly be
unacceptable and not obeyed.

(B) Those which are on neutral
line.

(C) Those which are unquestionably
acceptable.

(D) All of the above.

Paper-I1

Paper - 11

Note : This paper contains fifty (50) objective type questions of two (2) marks each. All

4. Which of the following is the
‘motivation factor’ in ‘Two Factor’
theory of Herzberg ?

(A) Working condition

(B) Work itself

(C) Policy and Administration
(D) Interpersonal Relations

5. Who defined bureaucracy as
“Organisation that cannot correct its
behaviour by learning from its
errors” ?

(A) Karl Marx
(B) Robert Merton
(C) Max Weber
(D) M. Crozier

6. “Loss of freedom and humanity
necessarily leads to loss of morality.”
Who among the following held this
view ?
(A) Hegel
(B) Karl Marx
(C) V.l Lenin
(D) Mao-Tse-Tung

7. Which of the following is not an
approach of decentralization
according to James W. Fester ?

(A) Dual Role Approach

(B) Administrative Approach

(C) Productive or Business Approach
(D) Doctrinal Approach

8. Who of the following developed the
concept of ‘Knowledge Worker’ ?
(A) F.J. Roethlisberger
(B) Rosamery O’Leary
(C) Peter Drucker
(D) Anne Osborn Krueger
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10.

11.

Assertion (A) : Administrative
Theory is marked by a plethora
of competing schools, a
polygot of languages and
accordingly, a confusion of
Logic.

Reason (R) : Each competing school
questions the others,
adventurism is rampant and
commonly accepted standards
of control do not exist.

Codes :

(A) Both (A) and (R) are correct and
(R) is correct explanation of (A).

(B) Both (A) and (R) are correct,
but (R) is not correct
explanation of (A).

(C) (A)istrue, but (R) is false.

(D) (A)is false, but (R) is true.

Organization economic theory strives
to ensure that worker interest
coincides with organization’s interest
which are embodied in organization’s
owner. This idea is a part of which of
following theory ?
(A) Principal-agent Theory
(B) Maturity-Immaturity Theory
(C) Herzberg’s Two-factor Theory
(D) Contribution-Satisfaction
Equilibrium Theory

Consider the following assumptions
of Total Quality Management and
select the correct answer by using
codes given below :

(i)  Quality focus

(i)  Continuous improvement

(iii) Top management commitment

(iv) Empowerment and  team
management

Codes :

(A) (i) and (ii)

(B) (i), (ii) and (iii)
(C) (i), (iii) and (iv)
(D) (iii) and (iv)

Paper-I1

12.

13.

14.

15.

‘The real fault that must be found
with the principle of the unity of
command is that it is incompatible
with the principle of specialization.’
This view was expressed by

(A) Henry Fayol

(B) Max Weber

(C) Herbert Simon

(D) Peter Drucker

“Government isn’t the solution;
Government is the problem”, who
said it ?

(A) George Washington

(B) Woodrow Wilson

(C) George W. Bush

(D) Ronald Reagan

Dwight Waldo in his book ‘The
Administrative State’ has criticised
which of the following ?

(i)  Notion of unchanging
principles of organization.

(i) Role of human emotions in
organizational working.

(ili) Narrowness of values of
economy and efficiency.

(iv) Inconsistencies in methodology
used in determining the
principles.

Select the correct answer from the

codes given below :

Codes :

(A) (i) and (iii)

(B) (i), (i) and (iii)

(C) (), (iii) and (iv)

(D) (i), (iii) and (iv)

‘Grand Corps’ in
Service stands for

French Civil

(A) Senior level of specialist
administrators
(B) Senior level of generalist

administrators
(C) Senior level of generalist cum
specialist administrators
(D) Senior level of
administrators

defence

S-14-13



10.

11.

AUHAT (A) : TTEE THTd ATt
foarumret & onfyem,  agm
FRT Fafed B & |

% (R) : U dfaet faemurr o=
foramemrett TRl Sdr €
SHEA VAT T ST W § qun
FIAH ®9 ¥ Wiga Ha=r &
Ao At § T&1 & |

&<

(A) (A) 3R (R) =T &l & 3R (A)
1 (R) T8 WL ¢ |

(B) (A) 3R (R) 3HI el & 3R (A)
T (R) Tt TLEIHT Tl & |

(C) (A) FE, W= (R) T € |

(D) (A) T &, W (R) W& |

e M agia 30 giHfvad e &t
T T € T BRI 1 e Wi &
fed, STt TIe &% @t ¥ STET Bl §, o
3ET T | I§ [geR FEfeiEd § #
o T5Td o1 AT § 2

(A)  TeH-3TThT (g

(B) URudera-sTaRyeear fagia

(C) &stenT o1 fgehRep g

(D) AEF-HE o 5T

GEOT TUTeT FEEE ¥ Gatad HeErerad
YRS W foar HifT qer e 5T T
e HI FEFd H Tl I T

(i)  Torr-shsferg

(i) Haq IN=HR

(iii) ¥ e Wt wfea

(iv) TTRITHOT T TA-VeTe

&<

(A) (i) T (ii)

(B) (i), (i) = (iii)

(C) (i), (iii) T (iv)

(D) (iii) = (iv)
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12.

13.

14.

15.

‘HARY o Thal & Ggd H Th
Ao S 2Evdh ®0 ¥ 7€ ¢ 6 T8
foeiosar & fogia @ o/ & I’ I®
foram foram = T ar 2

(A) TR HI

(B) H X
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(D) dieT g

g o [FaH € 2
(A) SISt anfemTes
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(C) it e, g
(D) e I

e | G | e M BC: o | B o

TsiRica W' H fefefed @ @

fehreht ST i & 2

(i) T & STuRedeier fagmr @
RO

(i) TeATH® FEHNAT 4 HHEEE
Tt wht TRt

(iii) srl=maEn dM FEGICT ®
T St Hehrordr

(iv) TogTdr »t Fuiia & 5 sua o
A W At % uga o

L

e 5 et T I A TIA L

&<

(A) (i) =R (i)

(B) (i), (ii) = (iii)

(©) (i), (iii) =R (iv)

(D) (ii), (iii) 3 (iv)

Thitgdr fafaet 9 § Ui HI H 3T &

(A) IR T & [aeEst uemas

(B) ale TR & WHTIATE! URIEH

(C) alt= TR & AHIERI-Te- st
URMYeh

(D) N &R & T WWEH
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16.

17.

18.

19.

20.

Which one of the following

statements about Fast Stream in

British Civil Service is not correct ?

(A) It is a Talent Management
Programme.

(B) It is both for graduates and
non-graduates  who  have
potential to become the future
leaders.

(C) It is open to people from any
academic discipline.

(D) It has five separate schemes in it.

Growth and significance of public
and private sectors in a system is
known as which of the following ?
(A) Socialist Economy

(B) Mixed Economy

(C) Planned Economy

(D) Capitalist Economy

The Deputy Chairman of Planning

Commission enjoys the rank of a

(A) Cabinet Minister

(B) Minister of State

(C) Deputy Minister

(D) Secretary to Government of
India

The extent to which formally
differentiated structure of a diffracted
society co-exist with undifferentiated
structure of a fused type is called by
F.W. Riggs as

(A) Heterogeneity

(B) Formalism

(C) Overlapping

(D) Poly-communalism

Which one of the following Articles
of the Constitution of India provides
for the establishment of additional
courts (by a law passed by
Parliament) for the better
administration of law ?

(A) Article 247

(B) Article 248

(C) Article 249

(D) Article 256

Paper-I1

21.

22.

23.

24,

Which one of the following is not
correct about International Bank for
Reconstruction and Development ?
(A) It was founded in 1944,

(B) It was founded to cater the

financial needs of poorer
countries.

< 1t promotes sustainable,
equitable and job creating
growth.

(D) It supports long term human
and social development needs.

Which of the following countries are
eligible to receive low interest or no
interest loans and grants from
International Development
Association ?

(i) India

(if)  Indonesia

(ili) Bangladesh

(iv) Pakistan

Select the correct answer by using
codes given below :

Codes :

(A) (i), (it) and (iii)

(B) (i), (iii) and (iv)

(C) (i), (i) and (iv)

(D) (i), (iii) and (iv)

Which of the following is not related
to Social Welfare Administration ?
(A) Central Social Welfare Board
(B) National Commission for SCs

and STs

(C) National Commission  for
Women

(D) National Human Rights
Commission

Which one of the following is not

associated with  World Trade

Organization ?

(A) Uruguay Round

(B) Doha Development Agenda

(C) Bretton Wood System

(D) General Agreement on Tariffs
and Trade
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(A) TE TH UITAT T B § |
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& ST el g i &7 W |
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foTT et & |

(D) =W UM TR AN € |

17. Ueh Ha& § Gresies aor =i & =i
oty e Hew (=faied § 9 g &
ST ST € 2
(A) TSR TeeTaree
(B) iy sreieeren
(C) THaifTa srelegawen
(D) YS! sTeferaeen

18. TS 3TN & IUTeAeT T &R = H A
T q9M eI € 2
(A)  Hiae T
(B) == T
(C) U
(D) YRA WHR & Frad

19. S U fewhade WA & AUt &9
T Tourtied Eearetl SR wSe grTeet
F AT TSN & HesThdd &
e I UF.ged, T gRT 941 el T
T2
(A) Tosdrgar
(B) fcqams
(C) WER =ATH
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21.

22.

23.

24,

SR AT Ta forehe o o T

T fr=fafad § 9 &9 d1 U HE T@l

T T2

(A) THHRN T T 1944 F g8 o |

(B) TP WU TS I H faE
STETRAT3Tl &l 9 o fod g€ off |

(C) J& oRONA, TUAMUl qam ekl
ST A el A # sgrEn
IAE |

(D) I& SrEehIel HHa qe QST
T #F sTavaRaTet w1 qHeT
HATE |

fefafed § @ &9 ¥ 39 AR
o @9 9 w9 =7 a1 o9 == &
0T T 3 ST Il T € 2

(i) o”a

(i) ZSHRmET

(iii) SRy

(iv) e

T4 T T FZ H ST G W
9T

&<

(A) (i), (i) == (iii)

(B) (i), (iii) T (iv)

(€) (), (ii) 12?>‘r.(iV)

(D) (), (iii) T (iv)

frafefad & ¥ s qmiSe weam

TTE § Heiterd el & 2

(A) HEE TART HedAToT S

(B) 3rgfad STfq iR SisTia & forw
L ST

(C) Ui wfget ST

(D) T AR ST

frfafad & @ &9 @1 favg =R
T W et el & 2

(A) I TAITE

(B) Tl TN TSiET

(C) s g fawn

(D) SR U 3 RE Uvs 28
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25.

26.

Assertion  (A) Development
administration requires
administrative modernization.

Reason (R) Development
administration requires creation
of new administrative
structures and reorientation of
existing one to suit the needs of
development programmes.

Codes :

(A) Both (A) and (R) are correct
and (R) is correct explanation
of (A).

(B) Both (A) and (R) are correct,
but (R) is not correct
explanation of (A).

(C) (A)istrue, but (R) is false.

(D) (A) is false, but (R) is true.

Match List — | with List — Il. Select
the correct answer from the codes

given below :
List—1 List—1
(Commissions / (Name)
Committees)

(@) Royal (i) Lee
Commission on Commission
Public Service
in India

(b) Royal (i) Islington
Commission on Commission

Superior  Civil

Services in
India
(c) Secretariat Re- (iii)K.P. Geetha-
organization krishanan
Committee
(d) Expenditure (iv) Girija
Reforms Shankar
Commission Vajpayee
Codes :
@ ) () (d
(A) (i) () (iv) (iii)
(B) () (i) (i) (iv)

(C) (iv) (i) (i) (i)
(D) (i) (iv) () (i)

Paper-I1

27.

28.

29.

30.

The Department of Disinvestment

falls under which of the following

Union Ministry ?

(A) Ministry of Heavy Industries
and Public Enterprises

(B) Ministry of Micro, Small and
Medium Enterprises

(C) Ministry of Commerce and
Industry

(D) Ministry of Finance

Which one of the following

statements is not correct about The

Prime Minister’s Office ?

(A) It was previously known as
Prime Minister’s Secretariat.

(B) It is a think-tank for Prime
Minister.

(C) It arranges the agenda for
Cabinet meeting.

(D) Now it is becoming a fulcrum
of economic activities.

Which of the following statements

about a member of the Council d’

Etat in France are correct ?

(i)  He serves in various ministries
as line administrator.

(i) He advises the Government of
the day.

(ili) He adjudicates cases brought
against officers of the State.

(iv) He creates a conflict of
interests by performing dual
functions, instead of enriching
administrative adjudication.

Select the correct answer by using

codes given below :

Codes :

(A) (i) and (ii)

(B) (iii) and (iv)

(C) (i), (i) and (iii)

(D) (i), (ii), (iii) and (iv)

“Development administration means

the implementation of programmes

designed to bring about modernity,

and changes within the

administrative system which increase

its capacity to implement the

programmes.”

Who of the following made this

statement ?

(A) F.W.Riggs

(B) Pai Panandikar

(C) Harry J. Friedman

(D) George Gant

S-14-13



25.

26.

At (A) . TTHEE W @i
TOEE  SMYRIHOT i
MEITHAT & |

s (R) : fow  HEwAT @

SMATAHATST o 3FTET e+ o fo1T
forehTa@ TRITE B qE URITE
TS % MO 9O Saue
eI % qEsiMia=ra &t
MEVIHAT & |

ETE

(A) (A) 3R (R) 34T Tl & 3R (A)
1 (R) TE TR |

(B) (A) 3R (R) =T Wl & 3 (A)
1 (R) Hel TR0 & € |

(C) (A) Wl & == (R) T & |

(D) (A) Toid €, W= (R) Wl & |

gE — | H g - 1l % |y gAferd
T | A {T T Fed H o 9

TET ST T T HIfT
e - | =t - 1
(mar/atat) (AT

(@) TRT F @F (i) o FHRH
T W I
S

(b)y k@ ® 3= (i) TR

fofoet dar W FHHRE
NIERCTINE]
(c) wfeamerda (i),
qie | TR
(d) TerifEeR (iv)fifesT v

Rewr e EIELp
%
@ (@ () ()
(A) (i) () (iv) (iii)
B) () (i) (i) (iv)
(©) (iv) (i) (i) (i)
(D) (i) (v) () (i)
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27.

28.

29.

30.

fateee foam Fefafad § 9 69
e HATeTT o ST 3T € 2

(A) 9 SN TS T A A=A
(B) &H, o7 Ud HeAH ITH A
(C) AUy T 3TN HATd

(D) fot A=

T W3l HEd & ey § AEtanad

H | I 9T HUT Fel Tl & 2

(A) Teet TN A UL T Graae
or |

(B) ¥ WU Tl o 7T e T ¥ |

(C) =& dwbmsed & dH & fou
FHIEG D AT AT |

(D) 379 I 3NIF FHADHAATA FHI SR
TAWE |

W § HHdel 3°dd & 958 & a) °

feferfad o @ i 91 %o @l g 2

() T WEH & €9 H O
Terdl | e BT € |

(i) vfqeeiud TXhR ot W 3 & |

(iii) T=T % AfwEr & faeg o ™
AHAT T AT AT ¢ |

(iv) WemEHe® HUEReT & 99g &
o ST Sl 1 G e Bl
& e Y S AT T |

T 52 et H ITANT FRA g el 3T

T TIT N ;

ETE

(A) (i) T (ii)

(B) (i) T (iv)

(C) (), (i) == (iii).

(D) (i), (i), (iii) Ta (iv)

“fhTa TG KT 31 € UY HEAHAT I

foraTae Sehr FHTOT wemEe qoTet

% ST ST AT URad o &

fou fear war €, 99 wEsH %

foparoa o ST HaT dedl &7 I8

fr=ferfad & | forden w8 2

(A) ThHI=Y 9

(B) I UHiteaH

(C) . wietd

(D) St T
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31.

32.

33.

Consider the following statements

about the role of the Public Accounts

Committee. Find the correct answer

by using the codes given below :

(i) The PAC is able to take up
only a few reviews and para of
CAG’s reports.

(i)  Ministries and Departments are
generally  consider CAG’s
report as a nuisance and
interference in their work.

(i) The PAC has a very limited
time to meet.

(iv) The PAC is only Committee
which make financial control
on behalf of the Parliament.

Codes :

(A) (i) and (iii)

(B) (i) and (ii)

(C) (i), (i) and (iii)
(D) (i), (ii) and (iv)

Chronologically arrange in ascending
order the programmes launched for
the amelioration of the socio-
economic conditions of rural people.

(i) MNREGA (ii) PURA
(iii) NRLM (iv) SGRY
Codes :

(A) (i), (i), (i), (ii)
(B)  (iv), (iii), (i), (ii)
(C)  (iv), (ii), (i), (iii)
(D) (i), (i), (i), (iii)

Which of the following is not correct
about the role of developmental
bureaucracy in developing countries ?
(A) Maintenance of law and order
(B) Formulation of development
policies
(C) Execution of
programmes
(D) Monitoring and evaluating
development schemes

development
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34.

35.

36.

37.

Which of the following Committee
was formed on the recommendation
of Grow More Food Enquiry
Committee ?

(A) L.M. Singhvi Committee

(B) Ashok Mehta Committee

(C) G.V.K. Rao Committee

(D) Balwantrai Mehta Committee

Which one of following is not the

role of the Chief Secretary of a State ?

(A) He is ex-officio secretary to the
Council of Ministers.

(B) He has supervisory role for
policy implementation.

(C) He can change the Rules of
Business.

(D) He is the chief coordinator
between Centre and State.

Which of the following statement
about the 33.3% reservation for
women in Parliament is correct ?

(A) It is yet to be introduced in
Parliament.

(B) It has been passed by the Rajya
Sabha in 2010.

(C) It has been passed by the Lok
Sabha in 2010, but remains to
be passed by the Rajya Sabha.

(D) It has Dbeen passed by
Parliament, but has not yet
received the consent of the
President of India.

Employee-Employer relation

includes which of the following ?

(i)  The work environment

(i) Disputes between employees
and employer

(iii) Work schedules

(iv) Health and safety

Codes :

(A) (i), (it) and (iii)

(B) (i), (iii) and (iv)

(C) (i) and (iii)

(D) (i), (i), (iii) and (iv)
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31.

32.

33.

A @ gfufd (ded) & gy °

fFafafea oA W fomr ST g

T U T F F SYAT F FEl HeAT

! AT :

(i) FEFw 3R weomEr  wWisE
(@ust) & ROE o Fad IS
et R U0 W & foam
T Jiodr TaY & ure ¥ |

(i) T qar faum dost o Rae

Tl I HH AT TG 37

T g5 qelT 7 € |

Hudt S S A F T T

g fHerar € |

(iv) Yiudr 3tehelt Ul |ATT & ST 69
i AT G forir e et € 1

B

(A) (i) T (iii)

(B) (i) wd (ii)

(C) (i), (i) = (iii)

(D) (i), (i) wa (iv)

(iii)

H FURA % To1d IR o6 T3 Hrishe
T SR HIAHH H AT HY |
(i) T=m

(i) dgemT

(iii) TASRTCTH

(iv) TSHeREE

ETE

(A)  (iv), (i), (iii), (ii)

(B) (iv), (iii), (i), (ii)

(C) (iv), (i), (i), (iii)

(D) (iv), (i), (ii), (iii)

forepreeter 3e  forepraTces Arehemet &

IR | Frferfad § & o T8t 1@l § 2

(A)  HHT T FTR T AT

(B) faepr Hifeat =1 fHTOT BT

(C) Tomra w1 fsharaa=

(D) o uRASHIST 1 UeieT 317
TodTeh

S-14-13
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34.

35.

36.

37.

fefatea & 4 fog Qmfq & e
‘U AR e THaRRS HHS Ht (wmer
W fopar T o 9

(A) e, fedr gt

(B) 3TeI® HeaTl |Hq

(C) St v wfafa

(D) orad I Hedr A

oo

T & Y Araa e HAfeiad

T e G g2

(A) =& T UReg H 9o ghEd ¥ |

(B) ifd & foparaaw & for@ st
TRAET T B € |

(C) o& & e & a9 & a5
THAT T |

(D) @& &= Tq [T F dF g
THIA BT & |

TOE H AfeeTrsit & felT 33.3% STRET0T &
ey o FreAfefad B 9 i a1 e W@l
T2

(A) TH TGS T I {1 ST St € |
(B) TH &1 2010 H T[T AT §RT T

fopam T |

(C) 9 912010 H Al G §RT A1
foam T, IR TS T gRT IR
fepan ST AT €

T 99 gNT WA fehar ST g €,
W AR % LU H FeHrd
T BT SRl F |

(D)

FHHEAR- T gy | Fefetea 9 9
FIT FHIEE € 2

() =& uRaw

(i) FHaiE do e & &=
faar

T ST

ey Te gL

(iii)
(iv)
ETE
(A) (i), (i) = (i)
(B) (i), (iii) wa (iv)
(C) (i) T (iii)
(D) (i), (i), (iii) w (iv)
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38.

39.

Assertion (A) : The Collector has
been reduced to the role of
target-chaser and a fire-fighter
on behalf of the Government.

Reason (R) The multifarious
activities performed by the
Collector make him almost
indispensable, but at the same
time, also make him an
overburdened functionary of
the district.

Codes :

(A) Both (A) and (R) are correct
and (R) is correct explanation
of (A).

(B) Both (A) and (R) are correct,
but (R) is not correct
explanation of (A).

(C) (A)istrue, but (R) is false.
(D) (A) is false, but (R) is true.

Consider the following observations
of Sixth Pay Commission regarding
performance related pay :

(i) It should be made a part of the
budget.

(i) It should be given out of
organisational savings
generated due to increased
efficiency.

(iii) It should be budget neutral.

(iv) A special ‘head’ should be
created in the budget.

Select the correct answer by using
codes given below :

Codes :

(A) (i) and (ii)

(B) (ii) and (iii)

(C) (i), (ii) and (iii)

(D) (i), (ii), (iii) and (iv)

Paper-I1
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40.

41.

42.

The Provisions of the 74"
Constitution Amendment Act are not
applicable to the Scheduled Areas
and Tribal Areas. Under which of the
following article of the Indian
Constitution these areas are covered ?

(A) Article 241
(B) Article 242
(C) Article 243
(D) Article 244

Which of following are the initiatives
for introduction of Local
Government in British India ?

(i) Mayo’s Resolution 1870
(i) Bengal Chowkidari Act 1870
(iii) Rippon’s Resolution 1882

(iv) Royal Commission on
Decentralisation 1909

Codes :

(A) (i) and (iii)

(B) (iii) and (iv)

(C) (i), (iii) and (iv)

(D) (i), (ii), (iii) and (iv)

Who defined research as “the
manipulation of things, concepts or
symbols for the purpose of
generalizing to extend, correct or
verify knowledge aids in construction
of a theory or in the practice of an
art” ?

(A) Karl Pearson

(B) A. Huxley

(C) D. Slesinger and M. Stephenson

(D) G.A. Lundberg and Mark Dewy
S-14-13



38.

39.

afrmem (A) : FolRT H qHE
A F U qEH arer qer
WHX & AR T TEEE &
T & A0 g aret o €9 |
Qe @ TEE |

% (R) : Fotdex §RT Fomfed fovw s
arer fafaedamgel w&F 3@ T
3INE™ qer it F TR
TG ISR ST 30 & |

Qﬁf:
(A) (A) 3T (R) AT Tl & 2 (A)
1 (R) Tel T T |

(B) (A) 3T (R) IHT W&l & 2 (A)
1 (R) Tel S0 & € |

(©) (A) W& " (R) @€ |
(D) (A) Ter &, W (R) Wl & |

fufa gratyd aa7 & 98 § S ddq
AN &t (= fewfor 9T o i

(i) =@ s & @@ s @ S

e |
(i) TTH TAE TG g8 FICA F

HRO] 3T~ GISHAHS J9d § F

fepan ST =nfew |
(iii) 39 SS1C H 37T @M ST a1ty |
(iv) ¢ | U foom ‘o’ s
ST =1eT |

ffafEd e § ¥ W& IW F 984
Eﬁf‘ﬁql

ETE

(A) (i) & (ii)

(B) (i) T (iii)

(C) (i), (ii) wa (iii)

(D) (i), (ii), (iii) T (iv)

S-14-13
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40.

41.

42.

743 G GeeA SitufTag o T
3TIgrad & T SHSTAE &3 W @]
T OEd | T T YRAE AE€H %
frefefed o @ 59 e=% & ofad
3 & 2

(A) 3FT=T 241

(B) 3TT=T 242

(C) =% 243

(D) 3FTes% 244

fafeer wnfeq vRa @ wEE I @@
foon o eet Frfefea g @ B A & 2
(i) o 1 9= 1870

(i) e FARRRT AT 1870
(iii)
(iv)
ETE
(A) ()= (iii)

(B) (iii) T (iv)

(€) (i), (iii) T (iv)
(D) (i), (i), (iii) = (iv)

o TS 1882
TorehSIeRToT TR TMET SHHIST 1909

Y 6l T8 i ferem < g 2

“ferdl TagT & FaToT | 3rerer TRt et

% oA H MR WreAr

foreaii@, afterg a1 Fenfud &= & faw

AHFOT % I5evE W e,

ThoqTen qAT Uil T H-aged FRT

IR

(A)  FHA T

(B) T &

(C) I WK qar vy, Eihad

(D) ST SUeenT qen a1k 2ot
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43.

44,

45,

46.

Which of the following is/are the
type/s of the probability sampling ?
(i)  Cluster sampling

(if)  Systematic sampling

(iii) Multistage sampling

(iv) Judgement sampling

Select the correct answer by using
codes given below :

Codes :

(A) (i) and (ii)

(B) (ii) and (iv)

(C) (i), (i) and (iii)

(D) (ii), (iii) and (iv)

Assertion (A) The opening
questions should be such as to
arouse human interest.

Reason (R) : The first few questions
are  particularly  important
because they are likely to
influence the attitude of the
respondent and in seeking his
desired cooperation.

Codes :

(A) Both (A) and (R) are correct
and (R) is correct explanation
of (A).

(B) Both (A) and (R) are correct,
but (R) is not correct
explanation of (A).

(C) (A)istrue, but (R) is false.

(D) (A)is false, but (R) is true.

Parliament does not exercise
financial control over administration
through which of the following ?

(A) Ministry of Finance

(B) Parliamentary Budgetary Process

(C) Parliamentary Financial
Committees
(D) Comptroller and  Auditor

General of India

In which of the following Committee
of Parliament, Deputy Speaker will
automatically become Chairman if he
is a member of that Committee ?
(A) Committee on Public
Undertakings
(B) Standing
Commerce
(C) Joint Consultative Committee
(D) Public Accounts Committee

Committee on
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14

47.

48.

49.

50.

The scales which express either a
favourable or unfavourable attitude
towards the given object to which the
respondent is asked to react are
known as

(A) Rating scales

(B) Thurstone-type scales

(C) Likert type scales

(D) Factor scales

Which one of the following districts
is not covered under Integrated
Action Plan for selected Tribal and
Backward Districts under the BRGF
Programme ?

(A) Adilabad (AP)

(B) Bastar (Chhattisgarh)

(C) Dindori (MP)

(D) Banswara (Rajasthan)

Which one of following is not correct

about Civil Services in France ?

(A) Conseil d’Etat covers
remarkably broad range of
administrative activities.

(B) Corps des Ponts et Chaussees is
one of the grands corps of the
State.

(C) Ecole Polytechnique is very
popular and most of population
wish their sons to send there.

(D) The recruitment system in
French Civil Services is not an
elitist one and  people
appreciate it.

Which one of the following States
has ranked first on Devolution Index
(on incremental basis) in the year
2011-12 7

(A) Kerala

(B) Madhya Pradesh
(C) Maharashtra

(D) Karnataka
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43.

44,

45.

46.

frafafaa & 9 9 migsar ufaaaT &
TR & 2

(i) TFE uiqae=

(i) At TgA-TaA

(iii) Sg=ROT Afa=Em

(iv) Fom= gfqeea

T fIT T P B ST B FE W
9T

ETE

(A) () ‘Ff(ii)

(B) (i) wa (iv)

(©) (i), (ii) = (iii)

(D) (i), (iii) T (iv)

afirpe (A) @ URiYE ue U@ BN
e ST AT i B ST Y |

% (R) : T F3 WA fovw w7 9
HewaquT eI & i ol STREwl
o AGIaaT Sl SR SHR i
TG UM ! TTied Y Hehd & |

ETE

(A) (A) 3T (R) 3HT W& € X (A)
1 (R) Tel T ¢ |

(B) (A) 3T (R) IHT W&l & 2 (A)
1 (R) Tel S0 & € |

(C) (A) W& & = (R) Tod ¢ |

(D) (A) o €, W (R) Tl & |

fafefag 5 9 fhas gRT 99% ueme
& S foxiim fEsor wnfua @ e
T2

(A) o gomer

(B) TUM IS UisHAT

(C) wusm foxia wffaar

(D) ¥RA % &= Y HeTeran uiersh

frfeafea & @ feq d9<m wfafa 4,
ST @d: & 9Efq T ergel o9
ST A 9 39 WHTT 5 § 92
(A) < 3UHT G

(B) anforey T |iAfd

(C) TFga IR |t

(D) I o |t

47.

48.

49.

50.
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forddt 3t T o, T SO ITRITAT
Tfdfshan I8t S &, & Uid a1 @ S5
T UTdshet SR i TSI e aTet
3TIH T T el & 2

(A) TreRoer e

(B) oA 21U AN

(C) ToToe 2T ST

(D) HRF AT

= ¥ 9 F9 91 ARSI UE, FEE
% =TI AT STeTia we g el &
®Y H THIFEd HA AN & 60 F=-=d
T T2

(A) TEEAER (3T TR

(B) SR (TETE)

(C) feeidl (wea wawn)

(D) STHaTeT (ISTEI)

wg o fafoer Qamstt & Hay #

fefafad 5 @ @i a1 e T8l 78 € 2

(A) Hfgad & T wEES
il M B e 0|
THIET HAT E |

(B) W SH UEH UL =EEE T7 &
T FEH F TH T |

(C) Tt Wifcteshish Afd-aiepba &
IS AR |

(D) widrdr fafger Femet | ol @t
TH 91T ! WA I ¢ |

frefetaa o & %= 91 I59 a9 2011-12
H &R0 gashis (e Tt R
W) % I T T T 0T ST § 9
(A) e

(B) T UW

(C) werre

(D) wAREH
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